



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$5^{(-2)} - 8 =$$

$$5^2 + 1 =$$

$$(-8) + (-9) =$$

$$(-7)^2 - 8 =$$

$$5^2 + 6 =$$

$$8^{(-1)} - 2 =$$

$$9^{(-1)} - 1 =$$

$$(-7)^{(-2)} - 4 =$$

$$(-2)^{(-1)} + (-8) =$$

$$(-8)^2 - 1 =$$

$$(-5)^{(-1)} - 4 =$$

$$2 - (-1) =$$

$$6^{(-1)} - 2 =$$

$$10^2 + 4 =$$

$$(-4)^{(-2)} + (-1) =$$

$$3^2 + (-2) =$$

$$4^{(-2)} - (-8) =$$

$$1^2 - 7 =$$

$$4^0 - (-8) =$$

$$(-1) + 1 =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$5^{(-2)} - 8 = \left(-\frac{199}{25}\right) = \left(-7\frac{24}{25}\right)$$

$$5^2 + 1 = 26$$

$$(-8) + (-9) = (-17)$$

$$(-7)^2 - 8 = 41$$

$$5^2 + 6 = 31$$

$$8^{(-1)} - 2 = \left(-\frac{15}{8}\right) = \left(-1\frac{7}{8}\right)$$

$$9^{(-1)} - 1 = \left(-\frac{8}{9}\right)$$

$$(-7)^{(-2)} - 4 = \left(-\frac{195}{49}\right) = \left(-3\frac{48}{49}\right)$$

$$(-2)^{(-1)} + (-8) = \left(-\frac{17}{2}\right) = \left(-8\frac{1}{2}\right)$$

$$(-8)^2 - 1 = 63$$

$$(-5)^{(-1)} - 4 = \left(-\frac{21}{5}\right) = \left(-4\frac{1}{5}\right)$$

$$2 - (-1) = 3$$

$$6^{(-1)} - 2 = \left(-\frac{11}{6}\right) = \left(-1\frac{5}{6}\right)$$

$$10^2 + 4 = 104$$

$$(-4)^{(-2)} + (-1) = \left(-\frac{15}{16}\right)$$

$$3^2 + (-2) = 7$$

$$4^{(-2)} - (-8) = \frac{129}{16} = 8\frac{1}{16}$$

$$1^2 - 7 = (-6)$$

$$4^0 - (-8) = 9$$

$$(-1) + 1 = 0$$